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1 �����

��������� 2 	�����
�������� 4 �� 1�� 4 �� 3 �

������� 4 �� 1 ����

5, 13, 17, 29, 37, · · · .

�����������

5 = 12 + 22, 13 = 22 + 32, 17 = 12 + 42, 29 = 22 + 52, 37 = 12 + 62, · · · .

������������ 4 �
���� 1 ����������������

��������
����������	�����������������

����

1.1 �����

�� 1.1 (�����) � p ��������

(p − 1)! ≡ −1 (mod p).

��������� m �� 1 ≤ m ≤ p − 1���� (m, p) = 1������� ??�

���	����
������	������� m′, p′ (1 ≤ m′ ≤ p − 1) ��

mm′ + pp′ = 1��

mm′ ≡ 1 (mod p).

�� m = m′��

m2 ≡ 1 (mod p) ⇒ (m + 1)(m − 1) ≡ 0 (mod p)
⇒ m = 1 � p − 1.

�����
�������� p = 7 ������

2 · 4 ≡ 1 (mod 7), 3 · 5 ≡ 1 (mod 7),

�� 2′ = 4, 3′ = 5���

1 · 2 · 3 · 4 · 5 · 6 ≡ 1 · 6 · {2 · 2′ · 3 · 3′} (mod 7)

≡ 6 · {1 · 1} (mod 7)

≡ −1 (mod 7).

����������	

1 · 2 · · · (p − 1) ≡ 1 · (p − 1) · {2 · · · · · (p − 2)} (mod p)
≡ −1 · {2 · 2′ · 3 · 3′ · · · } (mod p)
≡ −1 · {1 · 1 · · · 1} (mod p)
≡ −1 (mod p).
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1.2 ����

�� 1.2 (����) � p ≥ 2 ������a �� p ������
����	�

� x, y �� {
ax ≡ y (mod p),
0 < |x|, |y| <

√
p.

������� u, v �� 0 ≤ u, v <
√

p ��� u � v ��������	�au − v

����� ([
√

p] + 1)2 ��������������	����� p �����

��������� p �
����������������� (u1, v1), (u2, v2)�
�����{

au1 − v1 ≡ au2 − v2 (mod p),
0 ≤ u1, u2, v1, v2 <

√
p.

⇒
{

a(u1 − u2) ≡ (v1 − v2) (mod p),
| u1 − u2 |< √

p, | v1 − v2 |< √
p.

(1.1)

���� 0 <| u1 − u2 |, 0 <| v1 − v2 |������
���

| u1 − u2 |= 0,

�� (1.1) ��

0 ≡ v1 − v2 (mod p) ⇒ p | (v1 − v2).

� | v1 − v2 |< √
p �� v1 − v2 = 0�� v1 = v2����	 u1 = u2, v1 = v2����

�
�����
������ 0 <| u1 − u2 |< √
p���� (1.1) 	 (a, p) = 1 ��

�� 0 <| v1 − v2 |< √
p����{

x = u1 − u2 �= 0,
y = v1 − v2 �= 0,

����������� �

1.3 �����

�� 1.1 � p ������ p ≡ 1 (mod 4)�������	�� a �� a2 ≡ −1

(mod p)�

����� p = 4n + 1���������	

(1 · 2 · · · (2n))2 ≡ {1 · 2 · · · (2n)}{(−2n − 1) · (−2n − 2) · · · (−4n)} (mod p)
≡ {1 · 2 · · · (2n)}{(2n + 1) · (2n + 2) · · · (4n)} (mod p)
≡ −1 (mod p).

�

a = 1 · 2 · · · · ·
(

p − 1
2

)

�������� �
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�� 1.3 (�����) ���� 4 �
��� 1 ���������������

��

���������
� a = 1 · 2 · · · (p−1
2 ) 	���� 1.1 ������� x, y ��

⎧⎪⎨
⎪⎩

ax ≡ y (mod p)
a2 ≡ −1 (mod p)
0 < |x|, |y| <

√
p

⇒

⎧⎪⎨
⎪⎩

a2x2 ≡ y2 (mod p)
a2 ≡ −1 (mod p)
0 < x2 + y2 < 2p

⇒
{

x2 + y2 ≡ 0 (mod p)
0 < x2 + y2 < 2p

⇒ x2 + y2 = p.

�

�� 1.1 	 p ����������

(1) p ������������ ����

p ≡ 1 (mod 4).

(2) 	�� p ≡ 1 (mod 4)�� p ��� 5x2 +6xy +2y2 ��
��
 x, y ����

�� 1.2 ��

(1) ����

(a2 + b2)(c2 + d2) = (ac + bd)2 + (ad − bc)2

= (ac − bd)2 + (ad + bc)2

(2) ����� m,n ���� 2 ����������� mn ���� 2 ���

�����

�� 1.3 �

(1) � 8177 �����

(2) � 8177 �� 2 ����������!����	�

�� 1.4 ���� p ≥ 2�

(1) ���

((p − 1)! + 1, p!) =?

(2) �����������

�� 1.5 	 p ����m,n ������� p | 2m2 + n2�����
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(1) ���	�� a �� a2 ≡ −2 (mod p)�

(2) �� p ��� 2x2 + y2 ��
��
 x, y �����	"�������	�

�� 1.6 	��� m,n ��� 3x2 + y2 ��
��
 x, y ������� mn ��

�� 3x2 + y2 ��
�

�#���

���� 0, 1, 2, 3, 4, 5, 6, 7 �������$�����
�����������

��������


���

	 p �����m,n ������� p | 3m2 + n2�����

(1) ���	�� a �� a2 ≡ −3 (mod p)�

(2) ��� p ��� 3x2 + y2 ��
��
 x, y ����

�����Ǳ

������������ (a, b) 	 (c, d) ��
 a < b � c < d	��

a5 + b5 = c5 + d5.

���Ǳ������
����������������
� (a, b) �����

���
 a5 + b5 �������

����� 5 �� 3����Ǳ�������������
��	����

(9, 10) � (1, 12) ����

1729 = 93 + 103 = 13 + 123.

�������
87539319 = 1673 + 4363

= 2283 + 4233

= 2553 + 4143.
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